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FEEER AC/DC 1000 A BEEER AC 20 A, AC 200 A (2872)
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i =+ (% of reading + % of full scale) — =+ (% of reading + % of full scale) -
DC +0.2% *0.02%* - 1Hz<f<5Hz +2.0% £0.10% =
DC <f<100 Hz +0.2% *0.01% +0.1° 5Hz<f<10Hz +1.0% *0.05% +1.0°
100 Hz < f< 500 Hz +0.5% *0.02% +0.2° 10Hz<f<45Hz +0.5% *0.02% +0.5°
500 Hz <f=<1kHz +1.0% *0.02% +0.5° 45Hz<f<66 Hz +0.3% +0.01% +0.2°
1 kHz < f< 5 kHz +2.0% £0.02% + (0.7 X fkHz)® 66 Hz < f < 500 Hz +0.5% £0.02% +0.5°
5 kHz <f< 10 kHz +5.0% *0.02% + (0.7 X fkHz)* 500 Hz < f< 1 kHz +0.5% *0.02% +1.0°
10 kHz < f< 20 kHz +30% £0.02% + (0.7 X fkHz)® 1kHz <f<5kHz *+1.0% *0.05% +20°
*+0.02% f.sSHRBBEREZ £0.2 mVIU T 5kHz <f<10 kHz +2.5% +£0.10% +3.0°
WAELE - BRPLMIE - FTASHE - HABE1 MQLUEARIRES o 10 kHz < f < 20 kHz +5% +0.1% +5.0°
RIBHEES © (REAREMT - FEREEIRSTE - DC <f<5 HAIRREHE ;
AR  EEELUT - FEARELPYHERE + DC <1< 10 HAIBIREHE 20 kHz <1< 50 kHz £5% £0.1% *15.0

50 kHz < f < 100 kHz +30% £0.1% =
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{RIBELE : £0.01%rdg/° C

{RIZERE : £0.005% f.s./” C

0.05% f.s.LAF (1000 Vrms, DC~100 Hz)
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2 mVJ/A (=2 V/1000 A)
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-40° C~85" C: 80% RHUUT (Ful%E)

-40° C~85" C: 80% RHUT (Ful%EE)

AC 4260 V
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Z2M : EN61010, EMC: EN 61326
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20 AE72 : 100 mV/A (=2 V/20 A)
200 AE#E : 10 mV/A (=2 V/200 A)

0° C~50° C:80%RHET (FRoJ4E)

-10° C~60° C - 80% RHUT (AOJ&E)

$BEEE 6000 V

AC 600 V CAT Il (50 Hz/60 Hz)
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